Pre-Calculus 11

( 8.1 Absolute Value Functions: Part Il

: Given the graph of y = f(x). On the same set of axes, sketch the

graph of y = |f(x)I.
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an absolute value function?

Example #2: What piecewise function could you use to represent each graph of
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Pre-Cglculusll
( Example #3: Consider the function y=|—x2+2x+8‘.
(2) Determine the x-intercept and the y-intercept.
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(b) Sketch the graph. |
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(c) State the domain and range. Sepsi1,3,5
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(d)Express as a piecewise function.
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Example #4: Consider the function y = |—3x% — 1|. Sketch its graph and
determine its intercepts, domain, and range.
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